m RV N
X <- rep(seq(l, 5), 5)
y <- sort(x, decreasing = TRUE)

plot(x, y, pch = 1:25, xlim = ¢(1, 6), axes = FALSE,

xlab = "L RV DFELE", ylab =™, cex = 2.5, col = "red")

text(x + 0.2,y , 1:25)
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A< o— gy __
RepList <- c(1, 2, 3, 4, 5, 6) Ityt lwd/ NS A —4
col <- c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136", "#563c22", "#62513d")
plot(1:6, type = "n", main = "$EDIELE", xlab =", ylab = "$RDFEFF - XS DIEEE")
for (i in seq(RepList)){

abline(i, 0, col = colli], Ity = RepList[i], Iwd = RepList[i] * 3)}
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o< Y K .
ReplList <- c("o","I", "7", "c", "u"," 1","n") IayoutF';E] 3&
XNo <- 5
yNo <- 2
PA <- layout(matrix(c(seq(RepList), rep(0,(yNo * xNo - length(RepList)))),

yNo, xNo, byrow = TRUE))
layout.show(PA)
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a2 R

RepList <- c("o","I", "7", "c", "u", "n")

XNo <- 5

yNo <- 2

layout(matrix(c(seq(RepList), rep(0, (yNo * xNo - length(RepList)))),

yNo, xNo, byrow = TRUE))

for (i in seq(RepList)){

par(bty = RepList][i])

plot(1:20, main = paste0(" 7’0 v k 7 X k", RepList[i]),
col = c("#deb7aQ", "#4b61ba", "#ffdd99", "#8a5136"),
pch =19, xlab = "XZ ~N)L", ylab ="Y S5 ~N)L")

}



av > Kyl

par(bg = "#deb7a0")

plot(1:20, main="70Ow b 7 X k bg = #deb7a0",
col = c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136"),
pch =19, xlab = "XZ N JL", ylab ="YX /L")

bg/\S A —%&



av > Ryl
par(adj = 1)

plot(1:20, main="7Aw k T X k ajd=1",
col = c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136"),
pch =19, xlab = "XZ ~N)L", ylab ="Y S )L™
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a< > K o= gy __
par(ask = TRUE) ask/\ 7 * 9
plot(1:20, main="70y k TX k",

col = c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136"),

pch = 19, xlab = "XZ N JL", ylab = "Y 5 ~N)L")

<aVVY—)LIZ TRORZEZRBEOHOIZIE <Return> F—ZHLTTFELY: ] ERTENFET, >

par{ask = TRUE)
plot{1:28, main = "70O% k+ TAR",
col = c("#deb7a@", "#4btlba", "#ffdd99", "#8a5136"),
pch = 19, xlab = "XZ~L", yvlab = "YZ~IL™)
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o< Y K

par(cex = 2)

plot(1:20, main = paste0(" 70 k T X k", "cex = 2"),
col = c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136"),
pch = 19, xlab = "XZ N JL", ylab = "Y 5 ~N)L")
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2% Rl cex.axis/\ T A —A
par(cex.axis = 2)

plot(1:20, main = paste0(" 70y k TX k", " cex.axis = 2"),
col = c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136"),
pch =19, xlab = "X5 ~)L", ylab = "Y 5 )L™

70wk 77X cexaxis=2

o _ .
N

15

YZ NIV
10

5 10 15 20

XZN)



2% Rl cex.lab/N\S5 A —4
par(cex.lab = 2) .

plot(1:20, main = paste0(" 70 k TX k", " cex.lab = 2"),
col = c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136"),
pch =19, xlab = "X5 ~)L", ylab = "Y 5 )L™

70y bk 77X cexlab=2
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m i A N o= g
par(cex.main = 2) cex.main/\J * —4

plot(1:20, main = paste0(" 70y k T X k", " cex.main = 2"),
col = c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136"),
pch =19, xlab = "X5 ~)L", ylab = "Y 5 )L™
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97 KA cex.sub/85 A —4
par(cex.sub = 2)

plot(1:20, main = paste0(" 7B v k T X k", " cex.sub = 2"), sub = "TEST",
col = c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136"),
pch =19, xlab = "X5 ~)L", ylab = "Y 5 )L™
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m IR N col/\
par(col = "#ffdd99")
plot(1:20, main = paste0(" 70Oy k T X k", " col = #ffdd99"),

pch = 19, xlab = "XZ ~NJL", ylab = "Y S ~N)L")

A—45

N

Z70v b TRA K col = #fdd99

o _
N
o _

Y

>

<

n 9 -

>_
m_

X)L



A% col.axis/\T A —4&
par(col.axis = "#ffdd99")
plot(1:20, main = paste0(" 7B v k T X k", " col.axis = #ffdd99"),

pch = 19, xlab = "XZ ~NJL", ylab = "Y S ~N)L")
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av > K4l o= g __
par(col.lab = "#ffdd99") col.lab/\— A '}'l

plot(1:20, main = paste0(" 7R v k 7 X k", " col.lab = #ffdd99"),
pch =19, xlab = "X5 ~)L", ylab = "Y 5 ~)L")
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< Y Rl S S —
par(col.main = "#ffdd99") col.main/\ 5 A —4

plot(1:20, main = paste0(" 7B v k 7 X k", " col.main = #ffdd99"),
pch =19, xlab = "X5 ~)L", ylab = "Y 5 ~)L")
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av Y Rl o= gy
par(col.sub = "red") col.sub/NT A —%

plot(1:20, main = paste0(" 7R v k 7 X k", " col.sub = red"), sub = "test”, pch = 19,
xlab = "XZ X)L, ylab ="YZ X)L")

70w k XM col.sub = red
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o< Y K

par(fg = "#ffdd99")

plot(1:20, main="7 0w b7 X b fg = #ffdd99",
col = c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136"),
pch = 19, xlab = "XZ N JL", ylab = "Y 5 ~N)L")
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< 2 Rl N/ V= L —
par(fig = c(0.5, 1, 0, 1)) flg/ VT * 9
plot(1:20, main = "fig = ¢(0.5, 1, 0, 1)",

col = c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136"), fig=c(0.5, 1,0, 1)

pch = 19, xlab = "X5 X JL", ylab ="Y S N)L") T
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a2 Rl fins
par(fin = ¢(8.569444/2, 6.847222))
plot(1:20, main = "fin = ¢(8.569444/2, 6.847222)",

col = c("#deb7a0", "#4b61ba", "#ffdd99", "#8a5136"),

pch =19, xlab = "XZ N)L", ylab ="Y S5 X)L")
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